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1: mixturel.dat (/8) ¥ mixture2.dat (5) ® 7w v b

1.2 K-means 7L X LDRE
HEEWIXDED TH 5 .

o 7IRAR—FHDENFIED /=D, Python ® V53R LTREL .

e K-means 73V XAl assignment & update ED2DODAT v bk, IHE2DODXY v K soft_assignment

/ hard_assignment ¥ update & L THEEL .

o« VYT LEANA—FDBAEDT LTI XLDEWE, (BEAVEINES ) AHKROHEDATH S I & 2oL =R

oTED, EE, run_soft() ¥ run_hard() TEZDHNAED hard ¥ soft D 1HFELNLE DS,

o fetch_cluster T7 IV XADFMENLEEEHNIT 2, .r 74—V 5 BENLEHZEOEEZBIGT2 Z 8B T

%, K2y 7 b K-means DGEICHRHICED 2 3.
o fetch_history T J3XX—HDDEEZEIETE 3.

class kmeans_2d:

mmwn

2RFTT—RICKT BV T b K-FGEDRE.

Usage:
kmeans = kmeans_2d(data, K, init, beta)

kmeans. run ()

Parameters:
- data: (N,2)-numpy.ndarray
- K: int 9F7RAZ—#




- dnit: (2,K)-numpy.ndarray ¥IERIE
- beta: float WENTA—A

mimnn

def init_ (self, data, K, init, beta, max_iter=100):
self.data = np.array(data, dtype=float)
self.K = K
self.init = np.array(init, dtype=float)
self.beta = float(beta)
self.max_iter = max_iter
self.N = data.shape[0] # 7—&¥
self.I = data.shape[1] # R7t# SEIE2
self.m = init # I3 XAF—HLOYIHEAL. 2xK 1751,
self.r = np.zeros((K, self.N), dtype=float) # EIEZ. xxN175.
self.history = [init.copy(] # V5 XX—HDDERE. 2xK1751.

def soft_assigment(self):
"isoft K-means DIZEDEIBROEH "
for i in range(self.N):
distances = np.array([d(self.datal[i], self.m[:,j]) for j in range(self.K)])
denominator_ = np.sum(np.exp(-self.beta * distances)) # &

self.r[:,i] = np.exp(- self.beta * distances) / denominator_

def hard_assigment(self):
"""hard K-means DIZEDEIBIROEH """
for i in range(self.N):
distances = np.array([d(self.data[i], self.m[:,j]) for j in range(self.K)])
k_hat = np.argmin(distances) # R/NEBEDIZXX—FS
self.r[:,i] = 0 # HIDI—TOHEREVEY +
self.r[k_hat,i] = 1

def update(self):

nnn 3 22 —HULOERH "
new_m = np.zeros_like(self.m, dtype=float) # CC T float ICLBEWVWE, IFAZ—HFILHDBHICEBESNTLE
numerator = np.dot(self.r, self.data) # (K,2)-numpy.ndarray
denominator = np.sum(self.r, axis=1) # I TAX—DOEERDH
for k in range(self.K):

if denominator[k] > O:

new_m[:,k] = numerator[k] / denominator [k]
else:

self.m[:,k]

new_ml[:,k]

self.m = new_m

def fetch_cluster(self):
AR T AR —BEERM LT (V) -array ZRT "

return np.argmax(self.r, axis=0)



def fetch_history(self):
g S22 —HILNOBEZIEM LI A M2, 3RTD np.array ICEELTRY "

return np.stack(self.history, axis=0)

def run_soft(self):
misoft K-means FILA) XLDET "
for _ in range(self.max_iter):
self.soft_assigment ()
self.update()
self.history.append(self.m.copy())
if np.allclose(self.history[-1], self.history[-2]):

break

def run_hard(self):

""hard K-means 7 IV X LDET" Y

for _ in range(self.max_iter):
self.hard_assigment ()
self.update()
self.history.append(self.m.copy())
if np.allclose(self.history[-1], self.history[-2]):

break

RD XSV
initial_points = np.array([[0,0],[2,4],[4,211)

result = kmeans_2d(datal, K=3, initial_points.T, beta=1)

result.run_hard()

#t U5 A —BSEERELENBRIIRZFIA
pred = result.fetch_cluster()

ans = datal.iloc[:, 0]

## 70w b9 3EIERZFHA
history = result.fetch_history()

2 Hard K-means E1EZEEK
2.1 AWE7ZILIdU X LOEA

Il 1.2 BREBICAWTZIL IV XLTHSS, Python D752 LTERLTWAERE, EBO7 LIV X LSO & D
DI K o TWAB®, hard K-means OFEICBoT1 OO L LTRE LA TEHEEL, SFMAHE2H L. HE
HHARE L THRL .

soft K-means & [FAIRFICFIE L2720 (55 3.1 fi), AHEFFHEOHTZEZ I TEL IS5 ICHEL THRILTH 5.



® e

def hkmeans_2d(data, K, init, max_iter=100):

nmmnn

2RITTF—RICHT B/N\— R K-FHEDEER.

Parameters:

- data: (N,2)-numpy.ndarray

- K: int 953 X2—¥

- dnit: (2,K)-numpy.ndarray ¥IEA(E

Returns:

- clusters: (N,)-numpy.ndarray 977 ARX—&S

nmnn

= data.shape[0]
data.shape[1]

g8 H =
1]

= init

r = np.zeros((K, N), dtype=float)

for _ in range(max_iter):
# Assignment Step

for i in range(N):

distances = np.array([d(datal[il, m[:,k]) for k in range(XK)])

k_hat = np.argmin(distances)
r[:,i] = 0
r[k_hat,i] = 1

# Update Step

new_m = np.zeros_like(m, dtype=float)

numerator = np.dot(r, data) # (X,2)-numpy.ndarray
denominator = np.sum(r, axis=1) # FI IFAF—DOEEFRODF

for k in range(K):

if denominator[k] > O:

new_m[:,k] = numerator[k] / denominator [k]

else:

new_m[:,k] = m[:,k]
if np.allclose(m, new_m):
break
m = new_m

return np.argmax(r, axis=0)

TR EPEF LTS,

F=RZORLEFRLTVWS., SEETRT2RILT—XEHWS.

277 AR —HNZG e UTRIT I - 7= 0fEZ RN, 2 x KATHITH % 2 LICTER.

AR K x NATHE LTHRIILTnS. ZoBEIIRIEZETYIEZE L A HE %

[EXE3uN

4= =

1T57%

CRONONC)

Q@ ©

®6E e e

»THb. dtype=float OHH



® Z D distances Z#3 (K,)-numpy.ndarray IZ7%%. bbb, &k WRAH, Bk 77 AX—Hubr O 25T
X5 MVTHS. 72720, diF Euclid FEEEZEFHE T 25 L TERKEA L L .
® HESRNERDE S TAR—FE k= [argminke[m d(my, ;)] %, i € [N] BHOT —XIZOWTKD 5.
@ kR ESWTEERZERT 22, L—ATHIEORRZ )y T 20ENDH 2 Z LITHEER.
Z 2T dtype=float LIEELRWVE, FID5E init HEMDATHER I N T WA, Python © HEEUTHEREDY int
BPEZCHIEL, 77 AZ—Hhn OEIEBWRONATLES. T2k, 73V X0 T CIRFERBFRIICGELTL
5.
(®  numpy OfTHIFEZFHET 2888 np.dot ZEHL TV, EHHK
mk) Zg:l Tgﬂn)x(n)
NI
DT RITIEE RIzDTH 5.
518k (denominator) 1% (K, N)-{15l r Offfiz LTE 60 5.
W) ERIZIZBEIEISRNEICHEEDIEZLTVS.
10 ZI7AX—FOHBEIRPEDLLRVBERI T ATV RLEHT T 5.
1) HBHEFORLAREVI FAX—FSEZIET. FHEIZ hat_k DF%Z D% FIEHERVA, soft K-means 713V XAIZH

WU BB THEEL .

2.2 hard K-means O#JEMEKEFEHEDERE

mixturel.dat ICRKD 2ODYIHHER 52 THS.

(). () (),

&, my,mg IEZTIT my O y-EEZ 12T FFEb0

CERAEEE LTERATAS.

Result of hard K-means starting from (m1, m2, m3) Result of hard K-means starting from (m'1l, m2, m3)
49 1 Clusterl @ . 47 1 Clusterl .
Cluster 2 1 Cluster 2 1 : 1
34 L 34 1.1 1 &
3 Cluster 3 !} 3 Cluster 3 . 1 1{.
1 1 11 1
—8— CoC1 1 —8— CoC1 1 1
21 CoC 2 Lyof 2 CoC 2 1 by 1121 4
L] % coC3 1 p | CoC3 o 111 1
1 1 1 1 1
> > 1
o{ 3 $ 0-
33
-1 ? i3 -1 i3
3
33 3 33 33 333 33 r
—24 3 —24 3
33, §* 33, §°
—34 33 -3 33
-3 -2 -1 0 1 2 3 4 -3 -2 -1 0 1 2 3 4
X X

2: mixturel.dat D N—F K- HFEIC K 27 722 Y 7T OFER. FRATHERTWS RS 7 2 & —Hul (CoC / Center of
Cluster) DHIHUET, ZDEROBEHAMRINTNS.

EfE#: 51 vs. 85 FfREE: 56.7 % vs. 94.4 Y RE#H: 9 B vs. 7 [E



GEEDR GRV, (m),my,mg) BHRFHH, KEERSEINTV S, AN, A FOTIME m, 134 0BT 5,
) 3K RO > TS,

N—F K-FJ7 )3V I LIBYEREICBRERTH B L H L 00 %.

7B, (m),my,my) 2527256 (EKOBEH) ZEMRLAENTTaY FLEDDOBROKTH 3.

Result of hard K-means . Answer
41 1 Cluster1 1 1 Cluster1 1 1
2 Cluster 2 1 1 1 34 2 Cluster2 1 111 1 1 1
31 3 Cluster3 11:' 1 1 1* 3 Cluster3 h 1, :l.i]'. 1
—e— CoC1 L 11 1 2 1 11 1’1111
21 =4 coC2 1 h; 1131 2 1 A 17
—#- CoC3 111 by 1 111 1
14 ’. 1 1 1 !‘
2 1 1
> 1 > 2
04 2 2 0 A 22
2 ,2 ,2 3
—1 4 3 3 -1 2 3
32 2 2 3B 3 72, 22 333
—2 ? 3 3 -2 33 3
33, gg 234 g
—3 33 —3 1 33
B T B T
X X
. . ; - . , 4 1 —1
3 N=RNK-FEEEC XD 7 T A2 7 ORER FIHIEIE (m], my, mg) = ol )
IEfREN: 85 EfRE: 94.4 9, RE#: 7 @
2BEDIFAR—MIBFDI FAX—IRBEELTWE 45, 1FEDIIFAR—IRELTVWS1HET, it 5HDIZANDH 3.
23 1FfER%Z EIF3EA
EHTORETIEZ9XAX—2 L 30BRIFT4 2D IZAZIPLTEY, TAZBETERVHARLEZL.
FIT, BREWE ST,
2.5 -1 1
ml <_ 2 5 m2 <_ _1 5 m3 <_ _2 5
POHEE LTEZTAT, EEROE(ERBET 3.
. Result of hard K-means . Answer
1 Cluster1 1 1 1 Cluster1 1 1
1 1 1 1 1
34 2 Cluster2 117 1 34 2 Cluster2 117 1
3 Cluster 3 L 11 J.i-l 3 Cluster 3 L 11 1{' 1
—— CoC1 . ihb : 1, {#11 1
2 1 o 1 hl 1 2 1 1 hl
—A— CoC 2 1 1 111 1111 1 1 111 1111
14 = coc3 111 1- 111 1
2 1 3 1 1 1
> 2 : 2 1
0 - 2 0 - 2
2 5?2 t )
2 2; ;
-1 ?; 3 3 -1 A 3
{ 2 2 3383 %2 2,2 333
—2 ? 3 3 —2 4 2 3 3
3 3
33, 23,4 g
—34 3 3 —34 3 3
B T 3% 4 A S



EfREN: 85 RS 94.4 Y RE#: 5 [

HITCHIHED SFR BN T Wi WA, HIED YV IR X —3I0EIN=320080, HELSLIT3DEETHD, MATIIX
Z—2DHDBINEDHERITTVEREIICHRIZDT, V75RAX—20HEZ LD 75 AX—3 AW ICHEEL, 75
2R —3OFLE XD ER» OGS S

Result of hard K-means Answer
4 4
1 Cluster1 1 1 . 1 Cluster1 1 1 L
3 Cluster 2 1 11 11 1 1 34 Cluster 2 1 11 11 1 1
3 Cluster 3 1 14, lil1 1 3 Cluster 3 1 13 1{; 1
5] —e— coc1 ) 13 1{'61 2- 1 11 1{111
CoC 2 1 ]l 1 111 1111 1 ]l 1 111 1111
111 111
1] —® coc3 1-
1 1 1 1 1 i 1
> 1 > 1

0 0

—1 3 —1 3
3 B3 3B 3
—2 "O 3 3 —2 3 3
33 5. 3 ga
3 3
-3 33 —34 33
-3 -2 -1 0 1 2 3 4 -3 -2 -1 0 1 2 3 4
X X

EfREN: 85 FfEER: 94.4 Y R1E#H: 6 [
CARICHERZ LTS, ELLGELTIAR.

EiZ, UE2O0OWHETIZ, REMIZ3D2DIFX2—Flid2<FLMEICIEKRLTWS.

BE | Bl IR 7 7 AR —HuL D R

N

SEORENERI S X2 —Hul | PIHMEZER
Clusterl Cluster2 Cluster3

x 2.426102 -1.323353 0.868333

y 2.091429 -0.765176 -1.948458

FIEIDRIEE T 5 24—l | PIEREZER
Clusterl Cluster2 Cluster3

x 2.426102 -1.323353 0.868333

y 2.091429 -0.765176 -1.948458

FoT, LY CHEEEELTH, EERIENSRVWSFIUAREZLNS.

I EDOBEN S, N—F K- EEREH 2D BRREBICIRTE L5871V AL THEEZILNS.

3 Soft K-means & IFEZH
3.1 AuwiE7ILdU X LOEER

KEFECHWIET7 VT Xa B 12 ) OS5, V7 b K-HIRICYZ 28003 — R&, ~—F KPR 210 (8
2.1 i) &, ROEITDARKLD



i range (N) :

distances = np.array([d(datal[i], m[:,k]) k range (K)]) ®
denominator_ = np.sum(np.exp(-beta * distances)) ®
r[:,i] = np.exp(-beta * distances) / denominator_ ®

T—R x, 7T AX=HD (my)E, L OWEBEEFIEL, X7 ML (d(z,,m,))E | % distances ML TV 3.
HEROE

® ©

exp(—fd(my, z;))
> exp(—pd(my, x;))

T 2 BRI T TR o TE Y, GREEICETE L TEE denominator_ 1ML TV 3
@  TTWREHELTH 37 denominator_ ZHWTTF—X o, DEHERK (r K| ZFHEL, (K, N)-174 r DEFNHEML T
W3,

ik —

3.2 IEfEROBR
WRER VL ET B=1 2 LTHS. K2 042 AR IIE

ZHZTAZYE, ROMED DFREZHFS .

Result of soft K-means with beta=1 Result of hard K-means starting from (m1, m2, m3)
49 1 Cluster1l 49 1 Cluster1l
2 Cluster 2 2 Cluster 2
31 3 Cluster3 31 3 Cluster3
—e— CoC1 —8— CoC1
27 4~ CoC?2 27 —4— CoC?2 2
14 —— CoC3 1] —— CoC3
2
> >
o 3 $ o 3 $
33 53
~11 3 3 ~11 3 3
3 3
{9, 8 3 : {9, w s s
—24 3 —24 3
33, g% 33, g%
—34 33 -3 33
-3 -2 -1 0 1 2 3 4 -3 -2 -1 0 1 2 3 4
X X

4: Y 7 b K-V (B=1), GHAN—F K- FFEICEZ 277220 Y 7OfR (K20Ee2<LFALDHD). FRILTHE
NTWBHED Y 7 AZ—HL (CoC / Center of Cluster) OWIHMET, ZDHBROBEAKREINT NS

IEfRE: 49 vs. 51 IEfRE: 54.4 % vs. 56.7 Y RIEH: 65 [ vs. 9 [

EfER 43.3% THole 2HhHP LEELTWS. 612, KM IBITH - 2505, BIFNIHATVS (65[E). *
e, ENHFE LD 207 7 2% —Hub (FeALrY) Ok, MR ThTwaRIFeAL—RLTWS FbEHICHE
T3,

5% | kIR o 5 A X —HuLO FERE

centers = history[-1, :, :]
df pd.DataFrame(centers, columns=['Clusterl', 'Cluster2', 'Cluster3'])
print (df)




Clusteri

Cluster2 Cluster3

x 2.217840 2.218129 0.015051

y 1.797156

1.797323 -1.385450

2 DETHEZIHIME (m],my,ms) BEATHS.

Result of soft K-means with beta=1

Result of hard K-means starting from (m'l, m2, m3)

41 1 Cluster1 41 1 Cluster1
1 1 1 1
2 Cluster 2 1 1 2 Cluster 2 1 1 1
31 3 Cluster3 11: 1 1 1} 371 3 Cluster3 11:' 11 * 1}
—e— CoC1 1 —e— CoC1 lil 1 !
27 -4 coc2 29— coc2 1 Iy 1131 3
L] % CoC3 L] % CoC3 100 11
2 1 1 :
> > 1
04 ? # 04 ? #
2 22
—1 - -1 A 3 3
g 2 §3 3£
-2 -2 33 3
33,4
—3 - -3 4 3 3
-3 -2 -1 0 1 2 3 4 -3 -2 -1 0 1 2 3 4
X X

K5 Y7 bbKEEE (B=1) X327 F7AX) 7ORR, ABN—F KR E 27722 VY 7OfR (RI20h 4
CHTBD).

IEfR¥: 87 vs. 85 EfESR: 96.7 % vs. 94.4 ¥ RE#: 101 [B] vs. 7 [A]

EZERIE 94.4% o0V LBELTED, KIEEP7TEZLKEIHEITVS. BREPEIN 4 LIZRELBR-TED,
N— F K- THHE SN - VIERESEYE 25, ZHo3EoTw3. MATIDREIN 1 D752 —1 2 LERIC, 75
ZAZ—=2¥ 30RDHIFEIF—H LTW53.

N\

BE | BN 7 5 2R —H D EEFE

Cluster3
0.258702
-0.984790

Clusterl Cluster2
x 2.451958 0.257367

y 2.080430 -0.984350

B=1DHEDY 7 b K-EEKE, ZofITEI 3 A2—R0HRETRERICHD L5 THS. —fkic, 8 a/NhEL, BEIK
EWEY, TAAVFXF =T Y RRT =SNGk D, 79 RXZ=ERUCEANNR LT R2 e FHEINS.

33 WENSXA—RIKDIEHOEL

TR % ERTC W2

4 1 —1
(&) mae (i) me (3)

THEEL L, HImEZ LT, #liEZ =01 L TAS.

r_
my < mj =

EfR¥: 68 vs. 87 FfRER: 75.6 % vs. 96.7 % RE#K: 10 [ vs. 101 [O

RIBBIIRD L, ETHIFLALYRILZ 9RXAXR—IET 3B hoTLE o 7.
DREET—HLTLEo>TWVS.

30D Y T AR —HULOD FEREA/ NI LLT 5 Hi

10



Result of soft K-means with beta=0.1 Result of soft K-means with beta=1

41 1 Clusterl 41 1 Clusterl 1
2 Cluster 2 2 Cluster 2 1 1 1
31 —e— coC1 31 3 Cluster3 11: 1 1 i
—4— CoC?2 —e— CoC1 1
27 —m coC3 27 —4— CoC2
—m CoC3
1 1
> >
o ? 22 o ? 22
22 2
—14 f 2?2 —1-
_2- _2_
_3- _3_
-3 -2 -1 0 1 2 3 4 -3 -2 -1 0 1 2 3 4
X X

X6: V7 +FKFE (EL=01, H=1) k37 7RK) > I7DFER.

SE | BkiIR 7 7 AR —HuD D FELE

Clusterl Cluster2 Cluster3
x 1.302467 1.302466 1.302467
y 0.474545 0.474544 0.474544

REPREZCEHNMRETIE, 2 THEMT, 320027 7 AX—p—f « R FCAHERE2ROL SR o, 20D, H—4Hho
FrAYERDOPOLANEBHL, RIE-DES. AT, B argnax ZFRICHE £ ZELTLE>TWEDTH%.

iz, WEZDUNIT, ¥HEEZ =10 £ LTA%.

Result of soft K-means with beta=10 Result of soft K-means with beta=1
41 1 Clusterl 49 1 Cluster1
1 1 1 1
2 Cluster 2 1 1 1 2 Cluster 2 1 1
31 3 Cluster3 11:' 11 1 1{ 31 3 Cluster3 11:' 1 1 1{-
—e— CoC1 13 1 1 ! —e— CoC1 1
27 4~ CoC?2 1 1y 1131 2 27 —4— CoC2
L] % CoC3 111 1 L] % coC3
2 1 1 !
> 1 >
o ? 22 o ? 22
22 2
s AR
2 ? 39
-2 a3 3 —24
33, §
-3 3 3 —3
-3 -2 -1 0 1 2 3 4 -3 -2 -1 0 1 2 3 4
X X

M7 V7 bKHgE (E=10, H=1 X577 AXY 7 ORR.

IEfR¥R: 85 vs. 87 EfRER: 94.4 % vs. 96.7 % RE#HK: 18 [E vs. 101 [

#HT soft K-means 712V XL EHWEGEET, 32007 7 AX—FLNE- &b il KIEORKE B=1 08kt
RUFREDHEBEVTWS. L, ERRBEN—-F K-FHEOSE (K27Y) t2{FALTH%. RiF, RKEHNEIZI
K—HDBHN— R K-FIGEDHE K 2 OREBHBRI ST AZ—HLLIFCALRLICHE>TWS.

11




BE | BkiIR 7 7 AR —HuDL D FELS

SEDY 7 b K-FIEEDRENBRY 5 X8 —Hil
Clusterl Cluster2 Cluster3

x 2.413880 0.870308 -1.368158

y 2.084395 -1.931050 -0.806831

Clusteril
x 2.426102 0.868333 -1.323353
y 2.091429 -1.948458 -0.765176

B 2 ON—F K-FIGEORENG I 5 Z—fik

Cluster2 Cluster3

MEED,

ZTIF3/N—F K-FEICEEHLLES.

3.4 BERHEEDZER

V7~ K-PHERIEREEZ EIF 213807 7 AR —RHVislinD,

REZ T 21387 22X —8I EAD, +3I0RE

B=1TWEZI7AZ—=2201ZkiBL, B =10 TWX hard K-means 713 Y XL DFERLIFL AL EDL SO ko>, ZZ T,
ZOHEDETOREHOZEZHNS.
Result of soft K-means with beta=1.1 Result of soft K-means with beta=1.2
49 1 Cluster1l 1 49 1 Cluster1l 1
2 Cluster 2 \ 1 1 2 Cluster 2 D 1 1 1
31 3 Cluster3 11:' 1 1 1} 31 3 Cluster3 11: 1 1 1{-
1 1 11 1
| =& CoC2 ll 1 2_+C0C2 1} 1
27 @~ coC3 1 1y 11111111 —®- CoC3 1 Iy 11111111
]~ coC1 111 1 ] & coC1 111 L
2 1 3 2 1 3 t
> 3 3
o ? 2 o ? 2
2 22 (’\@ 2 22 (‘\@
i ! 3
_1- 3 -1 4
2
32 2 2 33 3 52 3
-2 ; 3 -2 3
33, % :~::~:3 3
—34 33 -3 33
R T B T
X X
Result of soft K-means with beta=1.5 Result of soft K-means with beta=1.8
41 1 Clusterl 49 1 Cluster1l
1 1 1 1
2 Cluster 2 h 1 2 Cluster 2 1 1 1
31 3 Cluster3 11:' 1 1 1} 31 3 Cluster3 11:' 1 1 1{-
—e— CoC1 11 1 ! —e— CoC1 11 1 1
21 11 2 ° 1}
—A— CoC2 e ! 111111 1 —A— CoC2 Y 111111 :
—=— CoC3 141 1 —#— CoC 3 111
1 i 1A i 1
2 1
> 2 3 2
0 - 2 0 - 2
322 322
_1- 3 _1_
f 2 5 3
-2 ? a3 3 -2
33,8 333 g
-3 33 —34 33
R T R T
X X
75 AZ—=2 3DOHLHN, BEOKTLHITERAICHENTW ZEABETES. R, BEINEWVWGEIEY 7 AR —HLM



A - MELTLEVNRTVA, WHIT2E I T 7 RAX—BUIIRIWKRETLZEL, RKIEFEKD 5.

1EfR#: 87 vs. 85
IEfR¥: 84 vs. 85

FfRE: 96.7 % vs. 94.4 9
FfRSR: 93.3 % vs. 94.4 %

RE##: 82 [ vs. 38 [H
RE#H: 19 [ vs. 17 [O

4 mixture2.dat DIHE TODIKEE

Result of soft K-means with beta=0.5

Result of soft K-means with beta=1.0

—e— CoC1
—A— CoC 2
CoC 3
CoC4
®
_4_
_6 .
—8 - O
-4 -2 0 2 4 6 -4 -2 0 2 4 6
Result of soft K-means with beta=1.5 Result of soft K-means with beta=2.0
6 1 —8— CoC1 6 —e— CoC1
—A&— CoC 2 —A— CoC 2
41 " —#- CoC3 47 " —#- CoC3
—— ——
2 5 » 24
0 1 3. ) 0 C 1
4 4«
=2 1 # Ay -2 £ e
4 1 4 1
-4 ',‘ -4+ i
—6 - 4 —6 - 4
_8 - _8_
-4 -2 0 2 4 6 -4 -2 0 2 4 6
Result of soft K-means with beta=10 Result of hard K-means
6 1 —e— CoC1 6 —e— CoC1
—&— CoC 2 —A— CoC 2
41 o —m— CoC 3 41 . —m— CoC3
4 —h— ——
2 ! i 2 1 ? -
0 1 3~ : 0 3
-2 # gt -2 £ g
g 4 4 g " 4 :
—4 1 “ —4 1 “d
—6 1 4 —6 1 &
_8 . _8_
-4 -2 0 2 4 6 -4 -2 0 2 4 6
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EfRE: 293 vs. 385 FfE#E: 65.1 % vs. 85.6 Y% RiE#: 101 [@ vs. 59 [0
EfR¥: 379 vs. 380 FfEER: 84.2 % vs. 84.4 Y% RE#: 47 B vs. 40 [H
FfE#Y: 378 vs. 378 IEfESR: 84.0 % vs. 84.0 Y% RE#: 29 [E vs. 14 [H

o mixturel.dat M LT, (WIHE | T) Y7+ K-F9EEHEHAT 5 &,
— B>2 ODEATHERIIAN—F K-EEReEbLL KRR 5.
- =1 DEATHERIZZ ZAX=DIFL AL 21Tk D, 3<0.5 TIEHHEHRETIIHERIC2O1IIhoTLES.
- FERII1I<SBLLI TRATH- 7.
- BERELTRIEY, REFBIZED L Two .
e mixture2.dat IZXLTH, LD 4 HIZOWTRBEDMEADHEZRT X 7=,
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